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Instruction | $2BB | {588

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARWCE BEH ZRIERHT 7 A 2RI B L o

FEARN S W5 B WG/ HT I8 A ZERIF B

. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iR EAIESERIEER I, FEE H A IERE R

R B AIESE R R I, RHEE H A A IEE SR

. BEvery question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

BHER HE AR E . BEE RN, BEEE A0 AUKHIBI I 7510057
FHES AR E M E. BB XFHE BFHEE AR AU 10057 o

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test require the use of a calculator.

FUREAE I BRRAR RA. R BAGAE SR TR SIS EAuar He aHi
AATA LA G 2t o

HAEMEARARAL. gt R BAGAIREA/E N TR iR A Rirt e . Wil
AT AT TR REDA 3 5 208 FH 5 o

. Figures are not necessarily drawn to scale.

A — L LA

BT A5 Tl 22 ] o

. You will have 75 minutes to complete the test once your proctor tells you to begin.
BB R EAT BIAGTR . VoA A7S5 73 G A TR ] 52 S Rl
B BN EATTFIG) . ARHA TS5 PRI ) 52 B o



2022 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)

‘ Part 1: 8 problems, 3 points each

(E—#5: 8EER, W39 | H—H4: 8 EHE, FF3 5

1. Buzz the bee wants to reach the flower. Which set of directions will get him there?
% ¥ Buzz XG0k, MARBIR—4 7 @38 At 2] E AR

%ok Buzz M 76 de. 1 H IR — 4o 2% A AL B) A AR 2.2

afe
¢
A >loll— B) |11l (o) S SN
D) - 111 B | >l

[Proposed by Kuwait | #Hs4F A | A AF A

2. Laser beams reflect in mirrors in the way shown in the left picture. At which letter will

the laser beam in the right picture end?
Yo £ B AT, MOCRB IS T EE A RS FA&E O RAAIME FE R & R?
Yo £ BT, BARBIET2RZERS. A B GBAREARANFELLER?

X B
el o

A B c

(A) A (B) B © C (D) D (E) E

[ Proposed by Denmark | 4438 | A4 AL |

2022 HAEBEREARE—DE T FHL 1 2022 FAHBFERAER—DFFHFAR



2022 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)

3. Rossita wants to put 2 coins in each row and in each column of the grid. Which coin does

she need to move to an empty cell?

Rossita #8.7 744 & 69— A7 A E— 5] P AR 2 HARH . AR R E ZA AR 45 5] = 89
B P ?

Rossita #8178 7 ¥ R 69— AT fafE— ) P AR 2 4B o AR L4 E Ao 4k s i 45 5) = 69
B He P ?

® O
OO
O

©

®
© O

(A) A (B) B © C (D) D (E) E

®

[Proposed by Denmark | FF4- 488 | A 2454 |

4. What is the smallest number of boxes that Bill has to move to be able to open the dark
TRAIN box?

& TRATHIREHIZR A TRAIN'G &F, Bill 2AR S HBEH SV EETF?

A TR IT R E9AF LA “TRAIN 8 &F, Bl ARV HH% y A A&TF?

board games
boO‘KS — music sheets
| |
Stug; . W
d ap ima]q bedding N l
)
(A) 3 (B) 4 O 5 (D) 6 (E) 7

[Proposed by Germany | & E 4528 | j& E AL

S TS RT SN Y] 2 2022 FHHERAEE I FE P ER
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5. Kengu always makes one large jump followed by two small jumps on the number line, as
shown in the picture. Kengu starts at 0 and ends on 16. What is the number of jumps that

Kengu makes?

B T, Kengu 48,2 23t Egk— KT Eskm . Kengu £ 0 Bi¥5, 2 16 4 &, M
Kengu —3t3k 7 % k?

B P, Kengu & 2 %4 Egk— K F Bk . Kengu M 0 JF45, 2|16 4%k, 1
Kengu —3 3k 7 % k?

(A) 4 (B) 7 © 8 (D) 9 (E) 12

[Proposed by Norway | #F a5 4 | #8844 |

6. John builds the tower shown. What will he see if he looks at his tower from above?
John & T4 B Fr 893, e R L@@ TAEGE, e F 45?2

John % T4 BB w9 %, o R L@@ FTARIGE, HEFINIL?

(A) (B) ©

(D) (E)

[Proposed by Greece | AR | A AL |

2022 FHBERIRE—DETFR 3 2022 FAHBFERAER—DFFHFAR
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7. Five cars numbered 1, 2, 3, 4 and 5 are moving in the same direction. First, the last car (5)
overtakes the two cars ahead of it. Next, the second last car overtakes the two cars ahead
of it. Finally, the middle car overtakes the two cars ahead of it. In what order are the cars

now?

¥ A L. 2. 3. 4. 5 AR LR — T wAiTE. B, RE—@WE (5) BBTEAHE
HmImE, TR, BIRFE _HEBBTEANONHHE, RE, PHOEZBBTECHD
M mem R, AREIT e 2098 BLAE R EARE?

BEG T AT 20 3. 4. 5 A E LR —F @At Bk, RE—#mE (5) BT EAH
A E, TR, BIRF _mERLITEN@OAEE, )&, PRAMERBITE
A, AR AKX E IR IR EAR?

o S S S R

(A) 1,2,3,5,4 (B) 2,1,3,5,4 © 2,1,5,3,4

T
A&

7

(D) 3,1,4,2,5 (BE) 4,1,2,5,3

[Proposed by Poland | JX @iA%#E | Ik 2444 |

8. The ages of a family of kangaroos are 2, 4, 5, 6, 8 and 10 years. The sum of the ages of four

of them is 22 years. What are the ages of the other two kangaroos?

BRFEEEMRBGFHA2, 4. 5. 6. 8F10 Ro L PwEFibzFol 22 R, AJE S
SR ER AN FIHRERS S R?
BREEEBRGEHZ2, 4.5, 6. 810 %, L PwmR ezt 22 %, A4 H
PARERFHERLS S S?

S
-
a

-

(A) 2,8 (B) 4,5 Q) 5,8 (D) 6,8 (E) 6, 10

[Proposed by Greece | A AL | A fAEA |

2022 FHBERIRE—DETFR 4 2022 FAHBFERAER—DFFHFAR



2022 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)

‘ Part 2: 9 problems, 4 points each
(EZERsy: 9 MEB, SE4H | ETEHS: O HEE, 5H4H

9. Mosif wanted the sum of the three numbers in each row and in each column of the grid

to be the same. He made one mistake. Which number must he correct?

Mosif 7 % 4 & b FAT R A5 609 Z AKX Fod 2 A F 69, /I T — B4R, Mt A
PARE 12

Mosif i 2 Fr #%- & 4T 545 69 AR Ao B 2 R 89, AL T —ANiR. B KL 14

BCARA 42
9111]5
31716
41714
(A) 1 (B) 3
(C) Oneoftheds | @4 | 44 (D) 5

(E) Oneofthe7s | 187 | 47

[Proposed by Greece | /A8 | 77 MAE A |

10. Giulia has one long string of spaghetti she needs to make smaller. Every time she breaks
one piece of spaghetti, it becomes three pieces as shown in the picture. Which of the

following numbers of pieces could she not get?

Giulia F =R &R F XA d, RERRCHAL . REN—RETKANG, HEE R
B A7 69 =A%, b 89 & XA @ A AR BOR T A A T @ RME #?

Giulia & =R KK & XAld, FRLCHITLE. REM-RETRMNE, HL2T R
B AT 69 =A%, b 89 & KA | A9 AR BN T Ae A T @R A4

\
S

(A) 13 (B) 17 (@ 20 (D) 23 (E) 25

[Proposed by United States | £ B 428 | % E 44 |

2022 FHBERIRE—DETFR 5 2022 FAHBFERAER—DFFHFAR
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11. In the statement below there are five empty spaces. Sanja wants to fill four of them with
plus signs and one with a minus sign so that the statement is correct. Where should she

place the minus sign?

ETEGFF, A LMEH,, Sanja A mIFAANLF @ =4, ABFHAANS —BZE
A, 1EAFE RR L. PR AT IR SR A AR A ?

ET@G%XF, A EA T4 Sanja M hF RS F @A EH, FATHANS A%
W, MARE XM, FIHR AR A 2
6. 19 12| 15| 18] 121=45
(A) Between6and9 | £6F29 Z M | £6 9 Z )4
(B) Between9and 12 | 29 12 2/ | £ 9 F= 12 Z 4]
(O) Between12and 15 | £ 12 =15 2 | /£ 12 =2 15 Z g
(D) Between15and 18 | /£ 15 #= 18 2 [ | /& 15 #= 18 2 4]
(E) Between18and?21 | £ 18 #221 2 f | /& 18 #= 21 X Jq

[Proposed by Iran | {7 34478 | 7 BA4E A |

12. Aladdin has a square carpet. There are the same number of dots, arranged in two lines,
along each side of his carpet. Unfortunately, the carpet has folded. How many dots are

there on Aladdin’s carpet?

Aladdin & —38E 7 B 69 2L o 0 F 4 09 o RE 6 AR R AR A S EAE B A9 412k, HER AT 1R
B, BRBLEMITET . M Aladdin #9308 LA 5 S AL EE?

Aladdin F —3: E HFH 693, L EM BN HELABA R SHEGLE, BERBEIT. &
W, X MBI ST, B Aladdin 8938 EREF £ AL B

(A) 32 (B) 36 (O 40 (D) 44 (E) 48

[Proposed by Poland | ik @i #5R8 | % 2454

2022 FHBERIRE—DETFR 6 2022 FAHBFERAER—DFFHFAR



13.

14.

2022 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)

Joanna folds the number square twice as shown. Then she punches a hole through the

black spot shown by the arrow. Which numbers does she also punch through?

o B B, Joanna 448 A B4 FAARIT B R K. REMAEFHAFHEZE LI T —EFR,
P 12 B R AR F i T IR e
e B P, Joanna K5 H K FTHEEIT SR K, RERAF KA FHEEEITT —ANA.
B X AR AR F it T R # R

13|14|15|16|17|18
19120(21|22|23|24 &
25(26(27(28(29|30
31(32(33(34|35|36

~
(A) 8,11,26,29 (B) 14,16,21,23 (C) 14,17,20,23
(D) 15,16,21,22 (E) 15,17,20,22

[Proposed by Greece | A B A%#E | A 454 |

Wanda chose a few of the following shapes and said ” Amongst the shapes I have chosen,
there are 2 coloured ones, 2 large ones and 2 round ones.” What is the smallest number of

the following shapes that Wanda could have chosen?

Wanda # T@ B H PiE T &ME, RER: EREFVEL T, A2MEAKEN. 2@ XY
Fo 2 {AE 49, ”F Wanda 2569 B 69303 % b 2 4% °

Wanda M T & &9 B P ik T JUA, ék)‘ii’c'“ﬁﬁii#ééﬁ@%? H2AFEH, 2 /MK
Fa 2 NE#, 7 F] Wanda £ B89 B 69 5= 20 2

m. .

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Poland | 7% #4428 | /& 244 |

S TS RT SN Y] 7 2022 FHHERAEE I FE P ER
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15. Five children ate some plums. Lauren ate two plums more than Sophie. Betty ate three
plums fewer than Lauren. Claire ate one plum more than Betty and three plums fewer

than Alice. Which two girls ate the same number of plums?

A8 Fr.%F. Lauren tt Sophie %72 7 W18 3 F. Betty tt Lauren Vvg 7 =827,
Claire vt Betty 727 —f8%F, tk Alice Yo 7 =B FF. MR RE oty FTHEM
[5] ?

AN FLEF. Lauren bk Sophie % v 7 # />3, Betty tt Lauren /v 7 =A% F,
Claire tt Betty %7 7 —AZFF, tb Alice Voo T EAF T FAAKHZ L EFHEH

G
(A) Alice, Betty (B) Alice, Lauren (O) Alice, Sophie
(D) Claire, Lauren (E) Claire, Sophie

[Proposed by Poland | % B B5R8 | & 2454

16. The cube in the picture is built from the three kinds of wooden blocks shown. How many

white wooden blocks are used?
PO HTREE T AR R, MBEERT %V EE ERWR?
B P&y AR s 69 =P RS20 . FEXEAT /NG & Rk?

L I@*@

(A) 8 (B) 11 (©) 13 (D) 16 (E) 19

[Proposed by Philippines | 34 %488 | 4 2404

2022 HAEBEREARE—DE T FHL 8 2022 FAHBFERAER—DFFHFAR
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17. If a number is divisible by each of its digits, this number is called the "Kangaroo’number.
For example, 12 is a “Kangaroo” number because 12 is divisible by both 1 and 2. What is

the sum of the digits of the largest two-digit “Kangaroo” number with different digits?

Jo B — B BT AT 6 A BB T, B AR R Blde, 12 2—E“B R, B
AH12 T Ao 2 ik, AR FHEARNFZRO BB HOB T RS )?

do B — ANFOT AR AN, MZEAR AR R M Blde, 12 2—ANB R, B
AI2 TR Fo 2 #he HAREKFHERN F RO BB RO FZ AL V?

(A) 9 (B) 10 O 1 (D) 12 (E) 13

[Proposed by Kuwait | A& 4FHAE | A AFH#AL

‘ Part 3: 8 problems, 5 points each
(=64 8EEE, SE5H | £S5 8 HHE, B5HE5 5

18. Three football teams participate in a sports tournament. Each team plays the other two
teams exactly once. In each game, the winner gets 3 points and the loser doesn’t get any
points. If the game finishes in a draw, each team gets 1 point. At the end of the tournament,

which number of points is it impossible for any team to have?

ZXRKGS B F R, BIRKRES IR IRGFE R 3. EFGLE T, BHE
%30, mAKRETIFN. WwRILEAXFRLE R, FILREEF]L 5. ELELE R,
AT — ¥ BRI 49 132~ A] BE 2 IR 3 2

= RFASARE R A LG 5 I LR SR — . ESHLE Y, Hnk
B30, MEAMERAS. W RLEATHLER, HFLRRERT 4. AREL R, £
17— JURIA 89 13 5 T AT BE R A2

(A) 1 (B) 2 © 4 (D) 5 (E) 6

[Proposed by Iran | {724t | 7 BA4LA |

2022 FHBERIRE—DETFR 9 2022 FAHBFERAER—DFFHFAR
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19. Alma wants to put one of the pieces shown in the middle of the left picture so that a child
in A is able to travel to B and to E, but not to D. She can rotate the pieces. Which two

pieces could she use?

Alma #ie4e B B 09— R 3804E £ B 69 P 1, BAEARGEZETFTUEBARE, 1214
Doﬂﬁﬁéﬁﬁumﬁoﬁ%?u&mW@ﬁ?

Alma 2842 B A 78— A XA LB P, 32 AXRNEFTAEBAE, 1214k
D, ﬁﬁﬁ%ﬁ?um%oﬂ%?u&ﬂﬁﬁﬁ?

AL

& a N
@Q. Q@ %o

A 1,2 (B) 1,4 © 1,5 D) 2,3 (E) 4,5

[Proposed by Denmark | fF44%8 | fF &4k 4 |

2022 FHBERIRE—DETFR 10 2022 FAHBFERAER—DFFHFAR
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20. Ahmad and Zhaleh start moving from point A with the same speed, in the directions

shown. Ahmad walks around the square-shaped garden and Zhaleh walks around the

rectangular-shaped one. They meet again at A. What is the smallest number of laps

around the square-shaped garden that Ahmad could do to meet Zhaleh there?

Ahmad #= Zhaleh #¢ A 25B 45 A48 7 69 1% B 4 BB B F Py = 69 7 w1471 . Ahmad %% E 7
7168 69:% A& , Zhaleh L E kWL E 9% A&, WFIE A BB k4%, M Ahmad & 4
FEFHARATHE, FiaAmiE R Zhaleh?

Ahmad #= Zhaleh M\ A & JF4 A48 ) 693k & 42 BB B P B = 69 77 w1472, Ahmad % & E 7
HiE sk, Zhaleh EEKFH LB G A&, AL A EF A&, 7 Ahmad &V 4%
HIEHGHILEATILE, FAiAENRLEL Zhaleh?

,
a

5m

4

-d %JE €%§

=

.
A
£

5m

(A) 2 (B) 3

2022 HHHBERARE—NE TR

<~—%£—>

10m
X LIy K.
|4 4SS0 a®
Y LA
. LY NP
10m
© 4 (D) 5 (E) 6
[ Proposed by Iran | 47 214528 | 47 814524 |
11 2022 FHHFRAGTF— DT FFAR
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21. A farmer has nine bags with potatoes, as shown. The numbers show their weight in kilo-
grams. He wants to split them in three groups of three bags each so that each group weighs
the same as the others. Which of the following bags will be in the same group as the bag
that weighs 6 kilograms?

B, ERAALRLE, MAATHREMARTEAABLN Z T, RERLECHS R
4, FE=MERT, #RFALINTERME. MATHRERFEE6 T LGN RAER
—4?

B R, RERAAKRLE, BERTHRAECNATF AR EE, BAREMNSRZ

W, FUEZANRT, R HFE LN ETHMAR. FIRATHRARTFEEG6 T 5GIRBELR
—4H7?

1 2 /3
4 /5 /6
9 /13 /17

2 3 4 9 13

(A) (B) © (D) (E)

[Proposed by Australia | i XA| 448 | M X A] AR |

2022 HAEBEREARE—DE T FHL 12 2022 FAHBFERAER—DFFHFAR



2022 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)

22. A pyramid is built from cubes with a side-length of 10 cm. An ant climbed up and over
the pyramid, as shown by the red line. What is the length of the path, in centimeters,
walked by the ant across the pyramid?

AFHWSE kA 10 KRG 2 FTERBR. WG T, —EERREB T AT, BEALT
HEABYRERS VER?

EFHERARA 10 2R 2 HHEM Ko L EPTw, —REGBURKE T &5 %, B ALF
BEALHRZRKRS T RK?

View from above

MLEEE | ##LEE

(A) 30 (B) 60 () 70 (D) 80 (E) 90

[Proposed by Slovakia | & &X St AR | & AR LA |

23. In the grid, the same number is hidden under the same colour square. To the right of
each row, the sum of the numbers hidden under the squares in that row is given. Which

number is hidden under the black square?

EHERT, MEAOBHEBLMRBENTHET. EHETOEE, B TEREZITH
T8 S B e MR L E T AT 69 2B 2
BHHEE T, MAGERRBEAMRAREHHTHET. AHTOED, S8 TREAEZTH
T8 BRI . PRI L E AT 69 A

—= 34

—= 32

—= 26

(A) 6 (B) 8 © 10 (D) 11 (E) 12

[Proposed by Poland | % @444 | &k 2454

2022 HAEBEREARE—DE T FHL 13 2022 FAHBFERAER—DFFHFAR
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24. The small caterpillar shown in the picture curls up to sleep. What might that look like?
Yo B BT T 89 D R RERE F SR BT AR RATBRAR TR

%o [ BT 7 89 /) R 364 B B

T R A AHET?

0 0 O U

N oo N ool oo 4

[Proposed by Germany | & B 428 | /& E A4 |

25. There are 20 blue balls, 5 red balls and 2 green balls of the same size in a bag. With closed
eyes, Ben takes balls one by one from the bag. If he wants to ensure that there are three

balls of the same color in a row, then at least how many balls should be drawn?

FERTIZA RIAR K89 20 B B2k, 5 B4 sk Aw 2 B &k 2k, Ben P AR MY, RT3 —{8—
AR 2, o R ERRAA RER B ERAMEEE, RBERS RS £ 1@
k2

ARTER R RN 20 ANk, 5 ANsde 2 Ngako Ben MA R, AETEZ—/—
AHBCE B do RACAEARIERL B LR G A RRMEME, LRI EBRE L I A
ke

(A) 6 (B) 7 (C) 10 (D) 24 (E) 27

[Proposed by Uzbekistan | & 2% 7] £ A73045 88 | & 2% 5] 273944 4 |

S TS RT SN Y] 14 2022 FHHERAEE I FE P ER



